Return to Table of Contents

New Assigned Part Number/Bill of Material | Qty. | Description

Upper Level Rod Clamp Kits With Tubes and Hose Assemblies

80701080 1 Clamp - Rod - Complete w/Connectors - A 1700 PT - Tapped for double spouts

includes -

(Qty 1) - Clamp - Rod - Complete - A 1700 PT - Tapped for double spouts

(Qty 1) - KIT - A1700PT INCLUDES 2 SPOUTS & 2 HOSES W/CONNECTORS

80701081 1 Clamp - Rod - Complete - FC 2200 - Tapped for double spouts

includes -

(Qty 1) - Clamp - Rod - Complete - FC 2200 - Tapped for double spouts

(Qty 1) - KIT - FC 2200 INCLUDES 2 SPOUTS & 2 HOSES W/CONNECTORS

80701082 1 Clamp - Rod - Complete - FB1600 - Tapped for double spouts

includes -

(Qty 1) - Clamp - Rod - Complete - FB 1600 - Tapped for double spouts

(Qty 1) - KIT - FB 1600 INCLUDES 2 SPOUTS & 2 HOSES W/CONNECTORS

80701083 1 Clamp - Rod - With Tubes and Hoses - 12P 160 - Tapped for double spouts

includes -

(Qty 1) - Clamp - Rod - Complete - 12P 160 - Tapped for double spouts

(Qty 1) - KIT - 12P 160 INCLUDES 2 SPOUTS & 2 HOSES W/CONNECTORS

CLAMPS

80701025 1 Clamp - Rod - Complete w/Bolts & Nuts - A 1700 PT - Tapped for double spouts

Includes: Threaded 3/8 NPT Cap plugs to to protect both ports

80701026 1 Clamp - Rod - Complete w/Bolts & Nuts - FC 2200 - Tapped for double spouts

Includes: Threaded 3/8 NPT Cap plugs to to protect both ports

80701027 1 Clamp - Rod - Complete w/Bolts & Nuts - FB1600 - Tapped for double spouts

Includes: Threaded 3/8 NPT Cap plugs to to protect both ports

80701028 1 Clamp - Rod - Complete w/Bolts & Nuts - 12P 160 - Tapped for double spouts

Includes: Threaded 3/8 NPT Cap plugs to to protect both ports




KITS

80701084

KIT - Rod Clamp - Connector - A1700PT

Includes: (2) - SPOUT- Rod Clamp - A1700PT - 3/8" Pipe - 316 SS

(2) - Hose Assembly 1/2" R1 with 3/8" NPT connector one end

(2) - Male Connectors - 1/2NPT x Barbed hose connection

(2) - Hose Clamp - 1/2 Screw type

(2) - Nipple - Pipe 3/8" - Hex - Brass

(1) - Shield, liner flush modification

(1) - Adapter 90 degree

(1) - Tee 1/2" Weatherhead

80701085

KIT - Rod Pump Clamp - Connector - FC2200

Includes: (2) - SPOUT- Rod Clamp - FC 2200 - 3/8" Pipe - 316 SS

(2) - Hose Assembly 1/2" R1 with 3/8" NPT connector one end

(2) - Male Connectors - 1/2NPT x Barbed hose connection

(2) - Hose Clamp - 1/2 Screw type

(2) - Nipple - Pipe 3/8" - Hex - Brass

(1) - Tee 1/2" Weatherhead

(1) - Cover, Liner end FC2200

80701086

KIT - Rod Clamp - Connector - FB1600

Includes: (2) - SPOUT- Rod Clamp - FB 1600 - 3/8" Pipe - 316 SS

(2) - Hose Assembly 1/2" R1 with 3/8" NPT connector one end

(2) - Male Connectors - 1/2NPT x Barbed hose connection

(2) - Hose Clamp - 1/2 Screw type

(2) - Nipple - Pipe 3/8" - Hex - Brass

80701087

(1) - Tee 1/2" Weatherhead

KIT - Rod Clamp - Connectors 12P160

Includes: (2) - SPOUT- Rod Clamp - FB 1600 - 3/8" Pipe - 316 SS

(2) - Hose Assembly 1/2" R1 with 3/8" NPT connector one end

(2) - Male Connectors - 1/2NPT x Barbed hose connection

(2) - Hose Clamp - 1/2 Screw type

(2) - Nipple - Pipe 3/8" - Hex - Brass

(2) - Baffle, Coolant 12P-160

(1) - Tee 1/2" Weatherhead

INDIVDUAL PARTS

80701088

SPOUT- Rod Clamp - A1700PT - 3/8" Pipe - 316 SS

80701089

SPOUT- Rod Clamp - FC2200 - 3/8" Pipe - 316 SS




80701088 SPOUT- Rod Clamp - FB1600 - 3/8" Pipe - 316 SS
80701089 SPOUT- Rod Clamp - 12P160 - 3/8" Pipe - 316 SS
80701054 SHIELD,LINER FLUSH-MOD A1700PT

80701055 COVER,LINER END-FC2200

80701046 BAFFLE,COOLANT- 12P-160

80701040 HOSE- 1/2" R1 X 30" LG W/ 3/8" FPT CONNECTOR -Swivel Crimp Connector
80701038 Capscrew - 3/4 -10 UNC X 3" - W/ Stancoat SC 1 Coating
80701039 Nut - 3/4 - 10 UNC - Self Locking w/ Stancoat SC 1 Coating
80701037 Clamp Hose - Ideal Screw type - 3/4" Dia.

80701041 Connector - 1/2" NPT - KFO8 -08 PS - Barbed Hose - Brass
80701063 Tee - 1/2" Weatherhead

80701042 ADAPTER,(37 DEG) FLARE TO PIPE

80701052

ADAPTER,GATES #8MJ-6MP90




